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Define the following:
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Answer the following -

@ 11. What sex chromosomes do males have? ¥ j females? XY

12. What chromosome carries sex-linked traits? W.=r L\L‘mm

13. How many autosomes do humans have? H'_-t

14. Tigers have a total of 38 chromosomes. How many autosomes do they have? __‘3‘
' : ‘H

© e sy b s S

15. How many sex chromosomes do tigers have? 2.
16. Genetically, what is the cause of cystic fibrosis (be specific) _

_ Cluomosora ¥7 3 bacges di

17. As a result of the genetic defect, how is a person’s body




13. As a result of the genetic defect, how is a person’s body different who has sickle .

cell anemia? th‘%ﬂl!b;h pm A Bloocl
Plecked

a
20. Determine whether the following are dominant or recessive genetic disorders:
a. Albinism (eceSS s >
b. Dwarfism (achondroplasia) alnn..i n.g;\.‘*
c. Cystic fibrosis fecessive
d. Huntington’s disease AMM’\T
e. Galactosema _C'LQCS-EI‘L&_
f. PKU feceSSINR
g. Hypercholesterolemia dowi nant

21. How many bytes (in computer language) of information does human DNA hold?
3 G‘b How many bibles would that be? 6 QO 5.'“0. S

22. Given the pedigree chart for a recessive sex linked

trait(black color), in a dragon family on the right,

a. How many dragons express the trait? =

b. Write the punnet square for the p1 parents
b
ety b

gl By % chance of females being normat: y
X X X xgy % chance of females being recessi

% chance of males being norm:
58| X5 kBY | chance of males bei




p2+2pq+q2=1 and ptq=1

23. A population of squirrels are either black or red (red is recessive). If 45% of the
population is black, calculate the allehc and genotypic frequencies for the

population. g So/o g b-p!"- C re 665-\&\ G‘ 65

q = J.56 = .14 T4% red allele
P=l-mas .26 [20% Sl atde
tz. ZC’?_Q'L o7 L—% kmaa,,us bb(q

20q = 2 (260 = 3 Q%o _batvozygs black
qz = (4> - .65 |5

24. A population in a particular European co
is 1in 4500. Calculate the allelic and genotypic frequencies for the population.

= ,000 22 —P q = JJOOOZ?- = . (5] |"(‘\
? = \"'ao Hq <
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201+ 20.0MA A8 =, 024 [2.4% vakuozy3os |

™= ,00022 = [,022% (ecesiiwa ]
25. In a particular population of lemurs, there are either red-eyed lemurs or yellow-

00070

eyed lemurs. If this is a trait controlled by only one gene and if 53% of the
population has the dominant red-eyed genotype of (m calculate the following:_

T‘L y2 (J f‘ a. 3 % lemurs that have red-eyes /Zf’ =
2!
b. _L ':I % lemurs that have yellow-eyes ?7.. S 3
Zr 9 c ﬂQ % lemurs that have dominant& genotype o
R d :7_2&% frequency of red-eye allele ? = ! .53 = :728

r e 212 % frequency of yellow-eye allele

q°- (213 = ,0740
0 | - oo = p* 47209 = A3
| 3 2(228) . 272) = .3k



